
42,9 m³      =       ........................................................................................................     hL

67 cL      =       ........................................................................................................     mL

455 cL      =       ........................................................................................................     mL

27 m³      =       ........................................................................................................     L

458 L      =       ........................................................................................................     hL

988,8538 dm³      =       ........................................................................................................     cL

36,097 m³      =       ........................................................................................................     L

28 cL      =       ........................................................................................................     mL

481 dL      =       ........................................................................................................     cL

873 L      =       ........................................................................................................     cL

19 m³      =       ........................................................................................................     hL

75,683 m³      =       ........................................................................................................     L

150 dL      =       ........................................................................................................     cL

66,98 m³      =       ........................................................................................................     hL

24,066 L      =       ........................................................................................................     hL



42,9 m³      =     42900 dm³      =     42900 L      =     429 hL

67 cL      =     670 mL

455 cL      =     4550 mL

27 m³      =     27000 dm³      =     27000 L

458 L      =     4,58 hL

988,8538 dm³      =     988,8538 L      =     98885,38 cL

36,097 m³      =     36097 dm³      =     36097 L

28 cL      =     280 mL

481 dL      =     4810 cL

873 L      =     87300 cL

19 m³      =     19000 dm³      =     19000 L      =     190 hL

75,683 m³      =     75683 dm³      =     75683 L

150 dL      =     1500 cL

66,98 m³      =     66980 dm³      =     66980 L      =     669,8 hL

24,066 L      =     0,24066 hL


